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	REVIEW
	What do we need to review about formal proofs on triangles?

	HW # 
	Complete Handout [ALL]

	Lesson Summary
	How confident did you feel when completing this handout?   Circle one below.

Very Confident                                                                             Not Confident
        10           9          8          7          6          5          4           3          2           1   


Please complete on a separate sheet of paper.  The answers for this review are on my website mrscholkarsmathclass.weebly.com.  Reminder:  Unit 4A Exam is Friday!
	***Proofs on Congruent Triangles***

	Common Reasons

· A midpoint divides a segment into two congruent segments.

· A segment bisector divides a segment into two congruent segments.

· An angle bisector divides an angle into two congruent angles.

· Reflexive Property

· If two angles are vertical angles, then they are congruent.

· If two parallel lines are cut by a transversal, then the alternate interior angles are congruent.

· If two lines are perpendicular, then they form right angles.

· If two angles are right angles, then they are congruent.
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	For each of the following descriptions or diagrams of triangles ABC and DEF, identify which triangle congruence postulate is used:
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	2. Which condition does not prove that two triangles are congruent?
  (1)  SSS 
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	3. Given:  B is the midpoint of 
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       Prove:  
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	5. In the accompanying diagram, 
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	Which statement would not be used to prove 
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	***Proofs on Similar Triangles***

	Common Reasons

· AA Similarity Postulate

· SSS Similarity Postulate

· SAS Similarity Postulate

· If two triangles are similar, then their corresponding sides are proportional.

· Cross Multiplication
	8. In the diagram below of 
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	9. Given:  
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     Prove:  
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	10. In the accompanying diagram, 
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 intersect at point T.  Prove that (WT)(CT) = (HT)(AT).
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	11. Given: 
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